A body in simple harmonic motion with angular frequency o = 0.2 rad/s is initially 100
em away from lis equilibrium position and moving back toward the eguilibrium positon
with a velocity=20 cmis. (i) Find the period of the motion. (ii) Find the coordinate and
velocity of the body as a lunction of time. (iii)) How long does it take the body to retum to
its equilibrium positon?
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A body of mass m = 3 kg Is attached 10 a wall by a spring of constant & = 27 N/m. It &5
initially pulled a distance x = B0 cm from its equilibrium position and released from rest,
() What are the amplitude, frequency and period of the motion? (1) Find the
displacement and the velocity for time ¢ = 10 s afwer release
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A body of mass m=2 kg is aftached io a wall by a spring of constant k=8 N'm. Ii is
given an initlal velecity, at x = 0 cm (its equillbrium positon), of 20 m's. Plot the time
evolution of the displacement o), velocity w(f} and aceeleration aif) for ane period.
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A4 kg mass vibrates n simple harmonke motion with amplitude 200 o and angualar
rrl'|||||'||l o A rad's, Find (1) ihe enErgy ol mwdom (i) the maxinaam values of the t't'|1u'|l:_'\r
and the accelemiion (i) the lime it takes o0 move Trom 100 cm below o 100 cm aboye

the equilibrium posliion
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A spring stretc h- 40 cm when ks s 80 \ Ah«xdy aof mass Jkg s bung from the

spring, When the body l gl an Initial upward veloc of 2 m's. (Take
g=10m's’) (i n l the amplitw d nd the ! requency f the k (i) Find the
acceleration of the mass whcn s 20 cm above Its equilibeium pos l v (i) Find the

force of tension in the spring af hh polnt
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